1-53

) FRP3 W KEPRY - 75885 h 3
THNG EOIRB~1B K, 95 Tn FERBEL BARR
BRI TR R E 2 h R

CNARE Xy ARk 3 - /Mk 0 2o WECKT 3 PHIR AT & . BdR et

R F R ETE. KEABH 9 =7 21 f< L 9>
. — RGN £ 0 ARG &Y 73, RER

PR PR 9 > TORERNRER B

BE Y £ 8 = r B

rAEKY £ & K K 4=

WAEKY £ B Bt ¥ =
KONt 4 aEERELK 2N o BRI B

CRIES ) B 2R | FELREM POEEREI

9= 7 F BB B L0 BET = 1h O 2K —a

fﬂ%%ﬁmrﬁ
7 5 BEBa Jo BRI R /%ma Ak
(AR 0BEERK Y BEET § - T B R R

fr‘m DAEARBR | R BHEREY 3 KB AEH 9> TRBAECIZ LY, BRI kENT

0%

2 BHAA B RE o HNET,, REIAT

SR L. BAR R Wk o ) £ PR
T2, 000, BP0 A BAEE T8 15 b3,
BIREE 7w 7
$0/ e AG W = — EdsT/00 —CEol/rRu) 4‘%12)
—YU=%)/p ()
< o= EVfaz), BA-aN2) el T= fﬂz
G & 1242, 0 T=BR 4%, w=1Aifa ﬁ%ﬁﬁ(
= %?%/)‘Mﬁi h=18%, 0=¥%, 1=Bit%
V=RUE V=T Y > T H B,
BAREIC 7 T |
S Y)W = i )T ) ——(2)
B 05 -+ o) PR -1 A 1+ /)8 §
Ko =T —~Eglr e ) B (T
<< REWBRNE, B HER d-TRE.,
Np=ery S ik, ofp = ABRARAEL
B8 a | BAEIK W TEKA 2% n Hih
% M= 5] B0 10 ) ~Epd Tk )
Ma= -5 [ nd/i 05k |~ )
Ny = -] WAy +p W/  —EpeTo/l-V p)
No=-Kp{ Wi +Vpdudy § ~EpogTo/tp )
L= -9;7{31%,’4( %/?(‘W%WH 12 ) (40§
~Ele g ( T/ )
KT, PeBpliar) K?=fv3/<!—v?)
2ROt g B | GLBETH ot = Fofak

@

$ h M T
PR
d N ) {
[T/ /s = L

1 Shell

B AR - TR BT I BER 35
BIEGB nhy L kB R L.

WA 02, Thhot O Gy T= o b ol - (5)
B 790 Tp=lorla V>, Trbota V> - ()
KT, Dot~ by, bR, BFREPARNTRE DK
R 43 REC, b by 59 > 7 Hho — BB TR
b0 SRR )20 B

[ up=A | caé@d{oshffHAzé‘m@%m OA+ fo osph /71%14@ A+ fg 507

hgr— S A e 005 T/ =205 P4 (1) ===~ ()
D 1= B ber+ Baber §+{ YR~ AB0lpl/-upf ks —----- (3)
U= C|Y+<]+\Jp)o(pﬁ,(%)§of,y&r e ()

-
~

< ZOA!"’A”«, B, g’r’)cl mtjﬁ%%ﬁ) g = VZQP} /Q?=4V PP/K5
o s IR, BATESn RGBT E 03 TRt —
K= L Vo, REBRA LB Qo%Br LEW L. MLk

EEY Mo, Qo EE B,

{Uﬁw=—{wj1=0) {AWAV&HA:“{ d“%qﬁm--()o)
AT 11 4 2 BARES 0 ¥R i E — £ 2k M)

I 1. LN L LK ﬁ?@fmﬁ%ﬁrﬁ;

AR A5 Bon3,

98



M= Vap F{bers=-Ve )i 8 X X-be 1 Bp+2p Y- ( Veig,+<i-up)s
ber e By ) §+{ ber8+<1=Jp) bers /8 §{X- ber Bp+ p - Vergp—
) berBr/ap§ |- BT/ Fup) e a1y

<XT, Br=0/kp, X=Mo~ErielTelfna, AVp), Y= ZERSA e G-Vp)

Ap=Cbev By her Bp—erBp. bes o)~ ~Vp ) {CherBp Y e By 125 /B
lelin BIEL bers, ber §HGKA &) nD B,

A .- N 7S Lo &
Mg:] +; [(Zﬁ)l]:( 1) ) bﬂg:g“‘*ﬁ[&’k_l)!] 1) ([2)
s & (A % L &SP &
: = VS o DR
8= i (0 8= S T

9 §420 g ¢ TEBZHEDARECR B35, FB

W RNEEE TS 6 sl B0 f—F—RED 3=

LR B, A <Tolehin BEEHIR B LERAEH 3,
bers =Py (s A+5n8/38) | beib=Pg (srh—efE)( 50
ber&'= Py (o5 B-35n4/88 ), bei §=Pe ¢ 6ir\6—3@6ﬁ/§§)j

<< T, Pg=e§4§ﬂz—[§ A= Gle-T4), 8= G +5% )

RUBEAUN LK N UGS L

$r .
=2 (2 L[-x{ ) ot 1 o T { o)

FEhGSHE s Lhwsf |- EET (3 br20)-04)

1< T, g g)=sin( A*%)—%M%ﬁy%ﬂ%é -3 cos(ﬁr*_%)/,%,g

bo= )i+ - 2867~ <1V 13K+ VS4B B

W= g-3)/z KL THZ,

2, 043420 (8,720 ), A Y5 GA(), R(1D&FIF =1
LENMnBENTE S,

3) fHfa] R-2MFEHKESELEU)afl% e
DT BBo E=2 105 Yne, V=Hr, Z4E aTRE(RATE
Y= np ), 51 R E A To CREBE R AL)EC, T o
BC 0102 hetom, bl & B TR LR B L
TNB 2 LIS, FHE A=8W, f=1bDm, =24/ 4p 5,

W —3 4B PR 2= T(E=2 0% e =03 J=10m, A5 om
Ol Zom 0=I1Z002 ) 0 MR, BAEEET BT B —A > -
Mok Ks=05~v100 Yz, 1=20,20,40m L URE, 3 BEAL@IN
AT=ECT=E0) k2w 2R DEMBRC L 2. a MKk R
AHBIRER L3 AAPRE Vo

K — 4248 040 RE & B 7 > 7 BI04 S5k
g% LEE 0%,

BE R 0 BEAL B HIE PR, 1R L
KRR, 0.9 2)2d Frhord): ST B TR EB Rt ok
RRGTEES 155,557 2) N L. - PRt 3 BB R AT,
RS DR o CRREERIT G o) 4) $52.2,10 (A%

99

¥

_&
Pt

."’

Ligquid pressure
————-u-== Temperature

)
Ks( kgkm3d)

o3

e=lm

{d

1=20m

KL, $ 4

he3Zem
= 12¢m




